REGRESSIVE ASSIMILATION|

1. Place of articulation

0 alveolar consonant <« non-alveolar C

/t,d,n/ /p,b,m,k,g/
l
non-alveolar C

t/ that person, that bag, that man

l
/p/ /06ep p3:sn/ /Oxp bag/ /dxp maen/
/d/ good person, good bye, good man

l

/b/ /gub p3:sn/ /gub bal/ /gub man/
/n/ ten people, ten bags, ten minutes

l

/m/ /tem pi:pt/ /tem baegz/ /tem mInIts/
It/ that colour, that garden

/k/  Joaxek kala/ /0zxk ga:dan/
/d/  good girl, red colour
|
/9/ /9ug g3/ /reg knls/
/n/ incase, ten couples, ten girls
!
/n/  /InkeIs/ /ten kAaptz/ /ten g3:tz/
0 alveolar C < non-alveolar C
/s,z/ /i, I/ assibilation
l
non-alveolar C
/s/ this year, this ship, this young man
l
/J1 /01f j3:/ /I JIp/ /BIf jAn man/




/z/ those years, those ships, as you know

/3/ /O3u3 j3:z/ /OsuU3 [Ips/ /33 ju nau/

0 alveolar C < non-alveolar C

/t,d/ /j/ affrication
l
non-alveolar C

/t/ don’t you, won’t you

|
/tf/ /daunt[ ju/ /wauntf ju/
/d/ would you, could you

|
/d3/ /wud3 ju/ /kud3 ju/

i Examples in Czech:
| pan krél /pan kra:l/ sedni si /sed'ni si/ hanba /hamba/

2. Manner of articulation

0 plosive C <« nasal C
l

nasal C
/d/ good night

!
/n/ /gun nalt/

0 plosive C <« fricative C

|
fricative C

t/ that side
|
/s/ |daes sald/




__________________________________________________________________________________________________________________________

3. Assimilation of voice (only regressive!)

C lenis=voiced < C fortis=voiceless

l
no voicing (eg. leaD through the crowd, oF course, etc)

M if Cl=fortis + C2 =lenis --> C1 remains VOICELESS!!!

Unlike in many other languages, assimilation of voice in English NEVER takes place in this
case:

eg. I like that black dog.

/al lark Oat blaek dvg/ not */al lalg dxd bleg dvg/

. Examples in Czech: :
svédek byl /svjedeg bil/ kdo /gdo/ kresba /krezba/ trubka /trupka/ led



